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Note: All questions are compulsory. Marks are indicated against eqch question in '-"s"Qi{ar :

’ .

Q.1. Solve the alignment problem for 2 given DNA sequences, Seg” TAGCCTTGC ; Seq 2:
TACCTC. Use scoring systems as Match = 2, Mismatch = '-I,A__Ga'p_ openmg penalty = -3, Gap
(CO-1,2)[2]

brackets.
————

extension penalty = -3, Explain why GOP > GEp?

Q.2. Discuss the significance of similarity baged
ehaiiting problem alaorithi, | (C0O-2) [3]
?'“:“':':-‘Ex ain it through the implementation of dynamic
(CO-2) [31

Q.3. What is semi-global alignme

programming with an example.

Q.4. Represent distances}fz‘:gnd siniilarities mathematically, What arte various mathematica]
properties of thege two te_\ljméffiﬁ'/hilc using in sequence analysis? Prove how scoring systém is
h (CO-1-3) {3

additive in nature?”. e

Q.5 Fi‘ndf the soiijtidn for the given weighted intervals: [(4,7,5), (8, 9, 1), (11, 14,7, (2, 4, 3),
(L3, 3),(5,9,6), (10, 13, 6)]. Generate graphical solution along with the vector foy the same.
(C0-2) [4]
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